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AFH17H/300~350q) 2,364 2,076 288 13.85%
H{ (17/650~700g) 3,496 3,386 110 3.25%
2 (1kg) 3,880 3,980 100 -2.51%
9(174/1kg) 1,074 1,074 - 0.00%
Hj 2= (1Z£ 7| /3kg) 2,161 2,311 150 -6.49%
HF(1kg) 5,813 5,708 104 1.82%
CH 2= (1kg) 13,272 13,272 - 0.00%
Ef K| 7| (2 AH/AHA AH6009) 10,140 10,188 48 -047%
EH K| 07| (ZAH/ZHH| R £ /6009) 7,746 7,746 - 0.00%
Ck 7|(10t2|/1kg) 6,468 6,518 50 -0.77%
A 07| (Z4A/S41/60009) 54,870 58,080 3,210 -5.53%
A D 7| (Z A/ 2E4AH/6009) 26,940 26,700 240 0.90%
R AALD 2 07| (==& At/S2/6009) 18,240 20,980 2,740 -13.06%
(265 =) CFZF(1TH/ E2H/307)) 4,205 4,255 50 -1.18%
=7|@nr2|/2 20y Q) 1,864 1,807 57 3.15%
ZbX|(10}2| /= AH/80cmLi Q) 6,603 6,070 533 8.78%
nEoj@ote|/2AH30mLl Q) 2,415 2,410 5 0.21%
O EH(10}2| /24 A| OFAH/40cm LY Q|) 3,533 3,537 5 -0.13%
MCH@or2| /=2 AH28cmLy 2|) 3,833 3,435 398 11.57%
0| o (10}F2|/= At/40cmLy 2|) 8,419 8,971 553 -6.16%
QFE(1Of2|/=At/40cmLi Q) 8,000 8,333 333 -4.00%
FHo{(10f2|/=4/23cmLf 2|) 8,048 - 4 HE
ZLXpO|(LOFE| /= AH/20cm L Q) 4,030 4,340 310 -7.14%
XH= (1042 | /2 AH30cmL Q) 22,450 23,450 1,000 -4.26%
Sl QAo (10F2|/=2AH/30cm) 3,985 3,918 67 1.71%
xt108HZ At/1kg) 6,883 7,133 250 -3.50%
MH(20kg) 53,149 53,149 - 0.00%
QFII}(1kg) 1,724 1,694 30 1.77%
7H0bS (1kg) 8,721 8,682 39 0.45%
DT E (2 AH1kg) 32,368 32,995 627 -1.90%
(= AH/1kg) 15,948 - HMEAL QA =X
0l 72 (=2 £ /3kg) 3,996 3,650 346 9.48%
L H(12/300g/4=Q A/ 2K E) 1,027 1,037 10 -0.96%
(ICI!;S;IZ) Al2O(18L/27|E) 5,453 5,533 80 -1.45%
AZ(19 350me/A04F) 1,252 1,252 - 0.00%
OHZ=(1% 500me/A O &) 1,461 1,461 - 0.00%
AZ(14 350me/2| Al 4,000 4,000 =23t
OHZ= (15 500me/2|Al) 4,000 4,000 =23t
3|2k (1L) 1,341 1,340 1 0.07%
242 (1L) 1,237 1,237 - 0.00%
=S 9(1L) 941 943 2 -0.21%
70 QI A{H| A H K| ZH[(LQIE/=LH &/ 2| A) 12,000 12,000 Het
E=) AAALCIZ2/=LE A/ QA 12,000 12,000 =23t
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AFF(17/300~350q9) 2~11t/1,250 2,000 3,000 2,650 2,640 1,720 1,980 2,450 2,470 /1,150
HH (171/650~7009) 2,500 3,500 5,000 4,980 4,000 2,580 3,250 2,450 3,300 3,400
=2 (1kg) 2,700 3,100 2,000 6,610 3,300 3,300 5,500 6,000 2,780 3,510
2(171/1kg) 1,000 900 1,000 1,280 1,280 1,280 700 1,300 300 1,200
Hi 2= (1% 7| /3kQ) 1,700 3,800 2,500 1,450 2,480 2,480 2,300 2,000 1,400 1,500
3r(1kg) 5,000 6,000 5,000 5,000 5,750 5,750 6,500 | 7F&/17,000 NS 6,900
CH==(1kQ) 10,000 12,000 12,500 3,900 11,230 15,960 9,500 18,000 15,620 19,010
ENK| 27| (= 4/ a4 4/6009) 10,800 10,800 9,900 10,800 10,140 10,140 9,480 9,600 10,200 9,540
K| 27| (== 4t/ & H| B -&8/6009) 7,800 6,600 6,500 10,680 10,800 12,600 4,680 6,000 6,600 5,200
CF7|(10r2|/1kg) 6,500 5,700 6,500 6,530 6,900 7,900 6,500 6,500 5,800 5,800
2| 1 7|(=4/S21/6009) 54,000 48,000 57,000 70,800 51,600 64,300 41,700 63,000 51,000 46,800
27| (= Ar/F=4/6009) 27,000 21,000 18,000 40,200 26,400 31,200 22,800 30,000 24,000 28,800
=2 2| 1 7|(5= it/ S2/6009) 12,000 15,000 A= 31,680 A= 37,200 10,800 12,000 N= N
(168 chHZ2k1ut/E2H/3070) 4,000 3,500 3,500 4,990 5,980 5,780 3,450 2,700 4,400 3,750
Z7|@aofe|/=A/20cm LY 2|) 3,570 1,100 1,000 1,580 1,600 3,500 1,160 2,000 2,000 1,130
ZX|(10r2[/=4t/80cmLi 2/) 3,330 3,000 5,000 7,800 6,500 6,500 3,000 6,000 4,000 5,900
150102 /=4t/30em Ly 2f) 2,000 2,500 3,000 1,700 2,400 2,500 2,500 1,800 2,750 3,000
HEH(AOF2|/2{ A|OFAH/40cm LY @]) 3,300 3,500 3,000 4,980 2,980 3,500 4,500 2,500 = =
AMER@AOr2| /=2 AH/28cmL] 2)) 5,000 3,500 3,000 N= e ANZE | =84H1,860 e 3,830 NS
Ol (10r2|/=4H/40cmLi 2)) 6,250 3,000 10,000 9,800 NS NS 9,800 /7,000 /7,700 3,800
QFEf(10Ot2|/=2AH/40cmL| 2)) 10,000 7,000 10,000 NS NS A= N= A= 5,000 =
HOo{(10f2|/=AH/23cmL| 2)) 7,140 | 20cm/2,800 7,500 4/2,200 4/2,200 4~/2,500 9,800 9,000 | £&(58&)/3,000 6,800
ZEXREO|A 02| /= AH/20cm Ly 2]) 5,000 3,800 5,000 4,280 2i41/1,200 3,800 3,000 2,360 5,000 | sll=/1,700
e=00r2|/=4H/30cmLj 2|) 30,000 N= 30,000 N= N= 2= | olls/7,500 N= 15,000 14,300
ol =2 10fe|/=At/30cm) 2,500 | 40cm/6,000 5,000 5,080 3,500 3,300 | =Qi4t/4,200 4,400 4,000 3,500
£t 10 8K (= 4AH/1kg) 4,500 5,000 4,000 9,000 9,800 11,330 5,900 6,800 6,500 6,000
#F(20kq) 59,000 53,000 54,000 51,990 54,000 53,000 49,500 57,000 50,000 50,000
QF1f(1kg) 2,000 2,000 1,200 1,100 1,660 1,400 1,380 2,500 2,000 2,000
7t0F=(1kg) 7,000 3,000 7,000 10,600 9,340 10,500 7,900 6,500 11,570 3,800
D=THE(=4H/1kg) 30,000 30,000 33,330 29,800 29,900 29,900 33,000 27,450 40,300 40,000
A TH(=At/1kg) 18,750 | £=¢/4+/10,000 18,750 Ol AF/10,580 Ol AF/11,200 Ol At/11,200 14,240 /9,500 13,000 15,000
O5=) Q7= (=4 &2/3kg) 3,900 4,000 4,500 4,100 4,200 4,710 3,500 3,500 3,350 4,200
FE2(12/300g/= A/ SN &) 1,000 1,000 1,500 980 1,000 900 1,000 950 950 990
Al29(18L/F7|5) 4,900 6,500 4,000 6,480 6,950 6,950 3,900 3,300 4,600 6,950
231" 350me/A~01 &) 1,400 1,260 1,250 1,180 1,190 1,190 1,300 1,250 1,250 1,250
OH=2=(18 500me/A~0f &) 1,700 1,430 1,450 1,410 1,460 1,460 1,450 1,400 1,450 1,400
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